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6XPDWHUD�%DUDW�

3HPELPELQJ ���'U��<XOKHQGUL��6�SG��0�6L

6DODK� VDWX� LQGLNDWRU� \DQJ� GLJXQDNDQ� XQWXN� PHQJXNXU� SHPEDQJXQDQ� HNRQRPL� DGDODK�

SHQ\HUDSDQ�WHQDJD�NHUMD��3HUWXPEXKDQ�SHQGXGXN�\DQJ�VDQJDW�EHVDU�VHWLDS�WDKXQ�WHQWX�EHUGDPSDN�

SDGD�EHUWDPEDKQ\D� MXPODK�DQJNDWDQ�NHUMD�GDQ� WHQWXQ\D�DNDQ�PHPEHULNDQ�PDNQD� EDKZD� MXPODK�

RUDQJ� \DQJ� PHQFDUL� SHNHUMDDQ� DNDQ� PHQLQJNDW�� VHLULQJ� GHQJDQ� LWX� WHQDJD� NHUMD� MXJD� DNDQ�

EHUWDPEDK��3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJDQDOLVLV�SHQJDUXK�XSDK��LQYHVWDVL��GDQ�SHUWXPEXKDQ�

HNRQRPL� WHUKDGDS� SHUPLQWDDQ� WHQDJD� NHUMD� GL� 6XPDWHUD�%DUDW� 3HQHOLWLDQ� LQL� PHQJJXQDNDQ� GDWD�

VHNXQGHU� EHUXSD� GHUHW� ZDNWX� GHQJDQ� SHULRGH� SHQJDPDWDQ� ���������� GHQJDQ� REMHN� SHQHOLWLDQ�

VHEDQ\DN����.DEXSDWHQ�.RWD�GL�6XPDWHUD�%DUDW��'DWD�\DQJ�GLSHUROHK�GDUL�%DGDQ�3XVDW�6WDWLVWLN�

�%36���$QDOLVLV� GDWD�PHQJJXQDNDQ�PHWRGH� UHJUHVL� SDQHO� GHQJDQ�SURJUDP�HYLHZV��$GDSXQ� KDVLO�

SHQHOLWLDQ� LQL� DQWDUD� ODLQ� XSDK� EHUSHQJDUXK� VHFDUD� QHJDWLI� GDQ� VLJQLILNDQ� WHUKDGDS� SHUPLQWDDQ�

WHQDJD� NHUMD� GL� 6XPDWHUD� %DUDW�� 6HGDQJNDQ� LQYHVWDVL� GDQ� SHUWXPEXKDQ� HNRQRPL� EHUSHQJDUXK�

SRVLWLI�GDQ�VLJQLILNDQ�WHUKDGDS�SHUPLQWDDQ�WHQDJD�NHUMD�GL�6XPDWHUD�%DUDW��'DQ��IDNWRU�\DQJ�SDOLQJ�

GRPLQDQ� EHUSHQJDUXK� WHUKDGDS� SHUPLQWDDQ� WHQDJD� NHUMD� GL� 6XPDWHUD� %DUDW� DGDODK� IDNWRU�

3HUWXPEXKDQ�(NRQRPL�GLPDQD� IDNWRU� WHUVHEXW�PHPLOLNL� QLODL�NRHILVLHQ� UHJUHVL� \DQJ�SDOLQJ�EHVDU�

GLDQWDUD�IDNWRU�ODLQQQ\D�
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